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QUESTION 1

A BusinessWorks process must be deployed that receives input from an EMS topic and publishes data to an EMS
qgueue. The topic and queue names must contain a token used for migrating between testing and production
environments. The system administrator must be able to purge the topic and queue from within the TIBCO
Administrator.

Which two tools should you use to create a TIBCO Administrator domain that meets these requirements? (Choose
two.)

A. Domain Utility

B. Designer

C. BusinessWorks Global Variable
D. AppManage Utility

Correct Answer: AC

QUESTION 2

Which file can be modified to expose the custom engine properties in TIBCO Administrator during deployment?
A. the bwengine.xml file

B. the rulebase file

C. the EAR file

D. the TIBCO Administrator TRA file

Correct Answer: A

QUESTION 3

What is an acceptable Activation Interval if the Heartbeat Interval is 30 seconds?
A. 15 seconds

B. 35 seconds

C. 45 seconds

D. 105 seconds

Correct Answer: D
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QUESTION 4

Which two statements are true about recoverable process instances? (Choose two.)

A. Manual engine recovery can only be done using TIBCO Administrator.

B. Manual engine recovery can be done using TIBCO Hawk.

C. Process instances that use sequencing cannot be recovered.

D. Process instances with checkpoints can be recovered by the engine.

Correct Answer: BD

QUESTION 5

Click the Exhibit button.

Start

Map Data IMS Queue Sender
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Given the following Start activity schema:
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<xsd:element name="root">
<uzd:complexTypel
<Hzd:zequencel
“xsd:elemnsent name="Members" minCtccurs="0" maxOocurs="unboundsd">
<Hsd:complexTypel
“<xed:sequence
<uzsd:elenent name="Hame" typs="usd:string"/>
<usd:elenent name="Address" —ype="usd:string"/>
</x=d:sequence>
</usd:complexType>
</uzd:element>
</ x¥sc:sequence’
</mad:conplexType>
</mzd:relement>

How is the Address of each member accessed most efficiently?
A. $Members.Address

B. the FastAssign activity

C. the Inspector activity

D. $item/Address

E. $Start/root/Members[$idx]/Address

Correct Answer: D

5

QUESTION 6

You wish to expose multiple operations for a SOAP service in ActiveMatrix BusinessWorks. Which activity should you
use?

A. SOAP Request Reply
B. Service Resource

C. SOAP Event Source
D. Context Resource

Correct Answer: B

QUESTION 7

Click the Exhibit button.
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® $Start/reot/TYF...

Start

Which two statements are valid about this process? (Choose two.)
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A. An otherwise transition should be added to this process for unknown test cases.

B. This process must be restructured because it is not valid to have more than eight transitions.
C. A group placed around the Start and all Map activities can unify the error handling.

D. Because all transitions must be evaluated, there is overhead in the process.

Correct Answer: AD

QUESTION 8

Click the Exhibit button.

JMS Queue Recener Map Data JMS Queue Semder Enul

do-loop

™ JMS Queue Receiver (JMS Queue Receiver)
Configuration | dvanced | mise | Qutput Editor | output| Errer output]

Marre; | JME Queue Heceivar

Description;

|
JMS Connection: |
|

Destination CQueue:

Message Type: ¥ML Text >

Acknawledge Mode: TIBGO EMS Explicit o

Which statement is true about the process shown?
A. The map activity will be called as many times as the number of records being iterated.

B. The map activity will be called only once because the group is a critical section guarding access to the messaging
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bus.
C. The confirm activity is missing, so the process will not start.
D. The message is never confirmed and is therefore redelivered continuously.

Correct Answer: D

QUESTION 9

The Retrieve Resources activity can retrieve which resources?
A. XSD, XSLT and XML

B. WSDL, WSIL, and XSD

C. JAR, XSD and WSDL

D. WSDL, WSIL and ZIP

Correct Answer: B

QUESTION 10

Which web server implementation is used by default in ActiveMatrix BusinessWorks?
A. Jetty

B. Tomcat

C. JBoss

D. GlassFish

Correct Answer: B

QUESTION 11

The Generic Adapter Configuration supports which three adapter services? (Choose three.)
A. Write to Adapter Socket

B. Remote Invocation

C. Respond to Adapter Request

D. Publication

E. Subscription
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F. Request-Response

Correct Answer: DEF

QUESTION 12

Click the Exhibit button.

.

JDBC-Update-1

+ 3+ 4

Group-1

!

/ JDBC Update 2

Group-2

JDBC-Updae-3

Group-3

C "

JDBC-Update-4

Group-1

Only one database is used, and all four JDBC activities in the process point to it. The database is down. Which JDBC
Update activity may be executed more than once?
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D.2

Correct Answer: A

QUESTION 13

Click the Exhibit button.

gn;
]

-a.-.-___J‘_ \

JMS Queue Recemer
l?_‘_ —-_‘__)" L

mMs Queue Sender

Croup Af{l1}

JMS-Topic-Publi...

Group B (2

This process uses JMS Local transaction. The JMS Topic Publishers all point to JMS Shared Connectionl. The JMS
Queue Senders all point to JIMS Shared Connection2. The JMS Queue Receiver is configured to tie into Group A(1).

How many transactions are committed if the process executes successfully?
A1l

B.2

E.5

Correct Answer: C
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QUESTION 14

Which shared configuration resource stores the public certificate of the user making the request?
A. Security Policy

B. Context Resource

C. JNDI Configuration

D. Identity Resource

Correct Answer: B

QUESTION 15

Which statement is true about the Load Full Project option in TIBCO Designer?
A. It loads only the referenced parts of the project.

B. It loads and validates the entire project in memory.

C. It makes working with the project faster.

D. It finds references to other projects in memory.

Correct Answer: C
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